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Sequences and Series Review 0

Some formulas you may find useful . ..

et | e | Sas(23% | ga-2l)] yat

1. Find tlfézftterm of the sequence 16, 8, 4, . ..
P = =?'§OTO'5 a,=1b .
ay = 16 (0.5)T" > Gy = lb(0.5) = 0.0000i5 or 1.5 X10

2. Determine the 19" term of the sequence-2,1,4,7,...

d=3 a=-&
On= -a+(n-1X3) = ~& +30-3 = 39

al‘l-‘ 3(K4)-5=57-5~= 53

3. The fifteenth and thirtieth terms of an arithmetic sequence are —27 and —102, respectively.
Find the common difference, the first term and the Explicit Rule for the sequence.

Qs = -2 Qzp= ~ 104 Gn = G, +(n-)d

-27= G+ (15-)d. -102=0, +B6-)d Q= -31-14(5)
~27- G+ lad, -l2=Qtd,  [G= 21 +10 = 43|

& +(n-1)-5)
G- -q7-144 Q=103 -394 G G300 __52)

—21- 4d, = - 162 -394 Gn= 45 -5n]
) = -

4. The fourth and ; geometric sequence are 3 and 192, respectively.
Find the common ratio, the first term and the Explicit Rule for the sequence.

G=3  Ge=B3 7 pfgae (G0 @17
3=G,(r?)  1®=0"" ] B v —

g =10 b.
: 3 10(;.' Gl r=“",‘%
r3 - T r=_a|
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For Questions 5 — 8;
a) Determine whether the infinite sequence is arithmetic or geometric,

b) Determine whether the sequence converges or diverges, and
c) Ifit converges, find the limit/sum (what it converges to).

aeomchc, o ) 330“5“1@

.l L

2°4’8'16" o0’

= & = 5
P’__Ilz'é CC)YNQY66 M= 9 = —A‘-.é.}l *’3- "3

I N, N Diwvevaes
Z0n= [-% & A -y
7. 1(0.5)™* geomdnL 8. 6(-0.9)" Qomdr C
P= 05 Oy= | P= -0 Q,=0
(omefc\/s—c_i T Qomlavg(.s

Zan = I-O-S- 0S5 §0n= "_(%_ 3. |5%
9. Given the sequence 1,7, 13,. .. Arrl‘hn\ghc I (-()Q)

a. Write the Explucut Formula that represents this sequence.

Q= | | 4 (n-1f(0)

d: (p Qn;l-l'(on (o
On = Lm—S

b. Find the 7, 12" and 55" terms of the sequence.

0= 37 Gp=61 Qg3

c. Find the sum of the finite sequence if it has 55 terms.
" (Cu-r(]m - 55 +320\ _ %qw
Qn o S
d. If possible, find the sum of the sequence if it is infinite.

NP> (not possxble)
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10. Given the sequence 125, 25,5, ...
a. Write the Explicit Formula that represents this sequence.

P=F=50 0] (g = (B0 )
G, = 135

b. Find the 7 " and 15" terms of the sequence.
0, = 5= 0-00%
i s 95 s
= 2.04% X
G = AR R 05
¢. Find the sum inite sequence if it has 21 terms.

Sog, = 185(1-(02)*) - 15035
[ - 6.5-
d. If possible, find the sum of the sequence if it is infinite.

T las | 135
Z0n" 25a " 0% Elhe

11. Jacob is planning a trapezoid shaped patio that has 21 rows. His plan calls for 10 blocks in
the first row and 60 in the last row. How many blocks does Jacob need to buy for this project?

Gy = 10 = g |D‘HQO - 735

12. In his piggy bank, Bingo dropped $1.00 on May 1, $1.75 on May 2, $2.50 on May 3 and so on until
the last day of May.
a) How much did he drop in his piggy bSnk on Ma§ 197

d=0.15 Q.= 1o®+(\q (0'15

G, = .00 Q,‘:,T .00+ 1% (0TB)
qu = IOO *‘5*50
Qyg= 1450

b) What was his total deposit in his p|g>y bank for the month of May?

Qa = 100+ (31-1)(0 v l—tl55b> |
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13. Tarzan, while swinging from vine to vine in the jungle, misses a vine and has to swing back and forth
on his vine until he comes to a complete stop. If he travels 75 feet on his initial swing and each
subsequent swing is 10% smaller, how many total feet does Tarzan travel until his swinging stops?

C(\:-!5~H_ gq :L— =15 _
r = 0.9 " [0-049 B_T —750_%(
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